Part A :General Intelligence & Reasoning
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Part A :General Intelligence & Reasoning
W % ; gy i wd ahaiE

From the given alternative words, select the word which
cannot be formed using the letters of the given word.

TR fawedt 3 & g e g S R 91w e

3 BT ST AT X e ST S W |
VENTURE

A)RENT B) TRUE

C) TURN D)RATE

If '+'means 'x, "' means '+ ', 'x' means '~ and '+ ' means

"+ then the value of the given equation is :
q%o_‘_ua;rm 'x|%-’ U '-ﬁ'm%'%, %' EFI'ST?ff'—' g'
IR+ T I+ A Tl g F A

FIAT B

9+8+8-4x6="

A)11 B) 65
C)68 D)36

Directions / fAder: A series is given with one term

Question Nos.3 to 4
T eI 3 d 4 T®

issing. Out of the four alternatives, choose the
lternative that will complete the series.

o g RATé fFaH v 9g g | B v arx
PRyl # & ag RFeT gAT 57 HHH F WA |
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A man facing south turns to his left and walk lm
turns to his right and walk 15m, again he turns to’ his 1he
and walk Sm and then he tumns to his left and walk lseﬁ
In which direction he is facing now? s

Ueh e afavoT ferem i 3R I 0 @ E, @y
1T H3 F 10m TTdT § 6T 3799 10 73 R 15m
Torel &, AT 9 3799 970 73 X Sm Toar & i i
I8 Y ST HS Y 15m T & | 39 §AT I8 e
oo & 75 i W §?

A) South
ZfeoT

C)North

< 3R

B) West
aftes

D) East
g

Find the number of triangles in the adjoining figure.

ForaeT 3Ty 3 SIS <hr TEAT AT HITIAT

7

Question Figure / Y& JTgfa

B)20

9_14

Question Nos.8 fo 11

A)16
C)18

3) ACE,GIK, 2 ,SUW, YAC S —
AIMOQ B)MPQ Directions / f2der: Select the related word / letters /
— number from the given alternatives.
MO ) v v faweyl # & gFaletd e/ HEN/ F&IT F
4) 2,510,17,26,2 g
¥ e X 3940
A)37 B)35 8) 8:512:9:7
-
C)38 D)33 AVIR By
5)  Find the missing number from the given responses. C)781 D)792
T et # & o WEAT A P |
13'@' 8 2 e 9) ADIP: DGLS :: BEIQ:?
g : 3 A)FINU B)EIQU
o I3 e C)EHMT D)CGLS
A)l3 B)17
® 10) AUTHOR :PEN:: DOCTOR:___
B o AGF : O xSl
¢ A)HOSPITAL B) DISPENSARY
§ PR HEadTe e
f I 19
6 |'S C)STETHOSCOPE D) WARD
wfren ars
5 A - p.1.0 c,);’
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One or two statemengg
Conclusions / ASSllmp

e o
tiOns glVen fo“
the statement » Land Oweqd
from com: to be true, eve, if; L Yoy have | %Y two
. monly known g 1t Seemg ¢, 0 consider
the given conclusions / . Ou are ¢ at varjance

ar :
umpti()ns 0 eCide which of
ment, lndicate efmite]y be

donkey, Rahy] iyszmm‘;‘:‘"er.

drawn from the given state
Statement: No man s 5
Conclusions:

[. Rahulisnota donkey
II. All men are not Rahui

T& A7 & IFAT Ry v

/m:aam“lsﬂruﬁmif;?;iaﬁw
m%%mm%mqgmfm
awdt & Bt el mmm%‘;ﬂ
¢ & Ru av o9cen #§ @ s-w PRag s @
T e p——
Sea &7 Torfese BT |

TFT _; S 3 ARG M 7 ¥ | W

wafEaa ¢ |
faemy
|. TGS T el &8 »
. woh =afFa B AG ¢
A) Only Conclusion I B) Neither Conclusion I
follow. nor Conclusion II follow.
Faa Oy 1 wear T ar s 1 AR A
A & 11 foveoren € |
o jonlor
jon 11 D) Either Conclusion
C)g)tllllg W\(Il-cmc:lusmn ) Eithe cion1 follow.
¥ sy 11 Ersgd 1 a1 1L forerct
foyarerer & | el
i ertain system.
13) Some equations ar¢ solved on the basis Olt\:'Zd o ation on
Find out the correct answer for the unso ;

that basis.
55 et el JOTen B

U AT & o ¢

1=
9X6x2=269,8x6x5=568,5x4"
45
A)201 B!
C)415 D) 451

~-4254610

W % : WA AT o adaie

14) From'the given answer figures, select the one in which the
question figure is hidden / embedded.

& 77& e it & & 39 3ca Hhd A AT

foraet we i AR §)
Question Figure / W& 3@y
|
|
L
Answer Figures | ST srgfel
T T e
T
e
A) B) C) D)

If a mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure ?

aﬁma&wﬁrwmwmma‘raaﬁm
Wﬁ#aﬂaﬁraﬁﬁfmmﬁaﬁmﬁ

g grefr?
Question Figure / T 3

-

D

15)

Answer Figures / ST g_rm

4 h

N

<
A

—
-
C)

—>
[}
f==
B)

4
—
<

>
»

(o
—>
4
D)

Question Nos.16 to 18
T §%AT 16 ¥ 18 TF

Directions / fA&r: Find the odd number/ letters /

words from the given alternatives.
WWW##W#@HMNMW

/
16)

B) KILOGRAMS

f‘) KILOMETRES
fReaH

el
C) TONNES

D) QUINTALS
Fdd

-

i mamrafAN)
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Part A :General Intelligence & Reasoning AR2017--4£92% : ‘K
2 22) IfNAME is coded as MZLD, how Will CLAIM b,
17) il gy
- aﬁNAMBﬁMZLDm#ﬁmm%a‘rCLAIM
it -—-—._.__ﬁ"h‘
AVKNQ B)DEG] & I & forr sirean 2 (
0 ¢ 3
C) YZBE D) QRTW A)BKZII B)BKYHL
18) C)BKZHL D) BKZHi
-~
A)154 B)119 23) Which one of the following diagrams Tepresents ¢
- relationship among; .
C)8s D) 51 Fruits, Mango, Banana
19) A piece of paper is folded and cut as shown below.v if_l the Drliien RS NG ilmiiﬁiha S
question figures, From the given answer figures, indicate maﬁa&ﬁm%v
how it wil] appear when opened.
mmﬁ@%ﬁﬁmmmﬁm S D T

P U Tt & ane; g oy 3eeig TRy ST
Rt e 00| (©)|I0)0 @
Question Figure / weg gt

B) C) D

” A)
"' :Eﬁ D 24) Aword is represented by only one set of numbers ag given
‘\.ﬂ $' ::.An

in any one of the alternatives, The sets of numbers given
in the alternatives are represented by two classes of
- alphabets as in two matrices given below. The columns
Answer Figures / i and rows of Matrix | are numbered from 0 to 4 and that
of Matrix II are numbered from 5 to 9. A letter from these
matrices can be represented first by its row and next by its
column, e.g., 'A’ can be represented by 00,44, etc., and 'P'
can be represented by 56,79 etc. Similarly, you have to
identify the set for the word ZEST.

il WQRWWW-WWEQWW%,QW
20) Which one of the given responses would be a meanin )
order of the following? ﬁ?%awq’rﬁ#ﬁﬁﬁwﬁ%mwa ﬁzm’rz‘r%tr
. Family 2. Community 3. Member T m‘W HeRT &y a?ﬁ-.m zafT TTE
4. Locality 5. Country

TR e Rerw aTw &Y 3mreggt # &) mewg 1 & we sk
et et & O lar-ar frere oY Ry g oreet @7 IR HET 0 A4 YIS AR e 1 59T

e S @il & 2 HTEET A U HET A Uge I A i ag A
LORER 2. WEE 3. weEy FAFH FEAT AT GRITT S Wbl & | 3eeXor & e,
(:.H'IEWT 5.1 'A' Y 00,44, 31Te SERT ETT ST HehelT & AT 'P' Y
A)3,12,4.5 B)3,1,2,5,4 56,79, 3 SR =ATAT T Fehell & | 4T e F 3T
C)3.1,42,5 D)3,1 4,52 woeT & U 216 ZEST % AT Tog Fr ggeraian §]
' e Matrix - II
| 21) The age of father is twice that of the elder son. After ten Matrix-1I ‘ 1
years, the age of father will be three times that of the AT '13 3 53" 6j7 1K)
younger son. If the difference of ages of the two sons is 0]1 ]23 clE 5[K|[P|1|L|M
I5 years, the age of the father is ? ‘1} ;f g STETR X W Z%%
|
R &t H1g 72 GT A GIA Y | s g R 2 [R[ETH/DIS| [ FITKIXIE
¢ S|D ZIL
a?tga‘#maamﬁmﬁaﬁgﬂﬁaﬂgﬁls 3 FTBIO[R[A] [OINIPIX[]
T T 3 & A ReaT r 3 vt 3 ! g 30,10
A) 70 years B) 55 years A)89, 13, 03, D)9, 13,33, 04
70 3% 55 9% C) 89, 31, 30,01
C) 60 years D) 50 years i
N 60 ¥ 50 a¥ _--——-—"") 4
kR 1 P.T.0 5 L {
N-2062/12 4 .5 . a':.:‘q —
371(10) 5a, S
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plete the pattern in the

question figure?

Question Figure / ¥ 3mgfy

" E ﬁaﬁﬁmﬁmm%mﬁmm?
!
|

P
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L 610 W & : HeaTens afsiy
AR2017 -4254
W 30) By selling a coat for T630, a shopkeeper gains 5%, Fyg.
T s y the cost price of the coat ? o Fing
Pa B : Numerical Aptituce e GFIET T T 630 3 T I A T 5% a5 g
: R1aT & | YT I AR Hed A HIAT |
; 2
vests T9100 for 3 months, Q invests 76825 fth
26) P inves . pusiness. If the A)T 650 B)T 625
months and R 28190 for 5 months in 2 fit should Q
(otal profit amounts to ¥ 41 58, how much pro C)T 600 D)X 700
get? s g :
ey RS P 3 AT & AT 9100, Q 2;:[75&5'1?1'(’ 31) Tw'o varieties of sugar are mixed together in a certain
r ¥ I ratio. The cost of the mixture per Kg is ¥0.50 less thap
26825 3R 5 ATE & fAw T8190 a7 faer H that of the superior‘and ¥ 0.75 more than the inferior
5 ey oy TRY T4 Ssgaera;’rﬁ;aﬁTam ol variety. The ratio in which the superior and inferior
varieties of sugar have been mixed is:
RUL et r & AT @Y R 3T # U |y e
A)T 346.50 B)X 693 ST & AT 9f Kg @mTd 34 ife el iy
1386
C)T 682.50 B> ST & 20,50 A § 3R afear et i o 820,75

27) A contractor has the target of completing 2 “"’”: i 4 o ¥ | Fe I el 3R afear e & i
completed ( [4) of mmﬁm?@?

the work in 10 days and left. The number of persons he
has to employ to finish the remaining part as per target 1S JA)2:3 B)5:1

T 18| 36 C)5:2 D)3:2

days. He employed 20 persons who

o TS

T S¥ETT T 8 40 e H FH T
" : # 1
20 et Y FH T A i 1o R # /4 32) P, Qand R can do a piece of work in 60 days, 100 days
1A 93T BT AT oEF T AT 3Y 3 8 F andEO d;ys respe;tively. They together work to finish the
work and receive T 2256.Then P will get?
HTAR AT FH B 0 3 Fore et safFadl &1
i g T P, Q 31 R oy e a1 shaer: 60 for, 100 et 31T 80
H'TI'H"ITFI?TFHTE"WH ? .
R 7 7 T &) 3 F19 T T FA o [T (AT
B)40 : :
420 ) 1A S & 3N T 2256 SO Y €, AT P e T
D) 10
C)30 ) HIeT B9 ?
28) The average of three numbers of which greatest is 16 is
12. If the smallest is half of the greatest , the remaining Ajt e B)nade
number is: C)? 564 D) 752

ST Gt T FoeTe T a2 HEAT 16 8, AT 12F ; :
33) A box contains one rupee, fifty-paise and twenty-five

paise coins. The total number of coins are 378. The ratio

uﬁmﬁwﬁ#@ﬂﬂﬁﬁ%ﬁd@rw
‘ gt of values of the above coins is 13 : 11 : 7. The number of
' twenty-five paise coins was:

A)12 B) 14 e it 3w W, S 3 25 4 & R

C)8 D) 10 ﬁaﬁfraﬁrﬁﬁwsmmmmﬁﬁ*waﬁr

29) A person covers a certain distance in 6 hours, if travels at AT 13:11:7 8] ged 84 3 Frrep! 1 el

40 Km/ hour. If he has to cover the same distance in 4 =

hours, then his speed must be: el ?

TfE A s 40 Rreietet gfoger @ afa & amr A) 132 B)78

FA & o $S & 98 6 HeY H o7 T § | AR 3W @ C)210 D) 168

& 4 6 A o et il

& qr s arfey et glet anfee? 34) The Selling price of a radio was 3255 when 15% discount
A) 50 Km / hour B) 80 Km / hour was allowed. Then the marked price of the radio was ?
S0 T3t wfey efer 80 Rraft wfa wer WWWWWIS%E‘@E%*W?%S%HT
C)70 Km r
’70%4rh:1%“ . D) 60 Km / hour Y3t a7 3ifhe Hed T AT Q_,\S
' T 6l i
0 @55 9fy ey A)T 400 B}? 300 (oﬁ i
C)T 350 D)% 275 %
M-206ﬂ12371(1 0) IS
6 P.T.0
5
___4

-
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35) The unit's digit of the number 6256 - 4256 i .

a‘@-r6258 G 42563;“@53@@'[%?
B)4
D)7

B: Numerical Aptitude

Al
c‘l,o
36)

income i

mﬂmaumaﬁrmﬂ 7100 ¥OH ¥ | Al A
3l e & A 3T X850 ¥ g T Y 3 R
&

T 900
C)% 850

B)Z 800
D) 475

37)

art in a social camp. The total number of students in the

college took part in the camp is :
ﬁ?{ﬁﬁﬁﬁfﬁ%aﬁaﬁﬂ/a =R A TH
amr%ﬁ?aﬁtﬁmﬁmaﬁaaﬁw%aﬁmﬁ

+ e A s v

AL B2 \$5¢ sl
20 13

C)4 D)13
15 40

Each side of a square is increased by 10 %.
percentage increase of its area i

Waﬁﬁgﬁﬁgﬁta’rlo%aamm%a’rsﬁ
rer Ry Sfereret 3R 8T
B)25
D) 125

%

38)

A)20
c)2!

..4%
A—RLMZ‘ Question Nos.3
o

Ram's in.come is T100 more than that of Shyam. If the
average income of Ram and Shyam is 850 then Ram'

In a college, /gt of the girls and 1/3"1 of the boys took

The

qITL W . -
Iy vy

to 40
FEar 39 # 40 TF

r The pie- diagram shows the

n the printing of a book by a
Study the pie-diagram

Directions/
oxpenditure incu

ublisher, Ul r
and answer

S

the printing under head A 18
diture incurred under head

If the expenditure incurred on
#5000/-. Then the sum of expen

Band D is:
afer A ¢ & et AZUT R 75000/~
%,eﬁaﬂ&BaﬂTDaaaﬁﬂﬂa%@m%r@ﬂa’mm

39)
1 g ferar T
gem?

A)Z 5780
C)Z 8750
' o

B)Z 7850
D)% 8570

The two expenditures, which together will form an angle
of 108° at the centre are :

o2 2 e TR s 3 1080 2T 1T SATTAT?

40)

<
)
Loogr

v é“yﬁ* o % 9 V| AReD B)D&E

b \ﬂ/o s s Nf% C)A&E D)B&E

° G v, by a | |
& | '¢ 07 b‘ﬂ QL) ) Ift;;)s‘:::teiflrugeg;e;::tzﬁ 22 %?gf its va!ue every year.
1 \VJ/J % value would be ¥36864 aﬂer? . 0000! 1ts dﬂpreciated

A YO ? U gufean 1 wia a¥ 20% Hed
; ool T A S ¥ | A
i % 3G TIH Hed 290000 ¥ 3 3w Apy
Koo == b 336864 raey I a1 81T 2 Id Jqeg
K ff (4 A)3 years
B
3§ )6 years
6% .
C)4 years dr- ;
4§ D)5 years ey
N-206212371(10) | § +¢ G4 N rﬂ/__{ > »
M e, 7
A ’V_Q
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part

B : Numerical Aptitude AR201

42) A sum was doubled with 121/ 2 % rate of simple interest,

43)
Y

44)

45)

46)

Lot

per annum- Then time taken for that sum is:

5 afr 121/2 %ﬂﬁmwwmﬁ
wg;ﬂ-mt{fﬂ%mmmm?
3)8 years /a§

D)Blyears/a"ﬁ'
2

A)]Oyears/a‘i'

€12 ! years /¥
2

The price of a bicycle is marked by a trader at ¥ 1000. He

sold the bicycle allowing successive discounts of 20%,

10% and 5%. Thus the trader gained 14% then the cost
price of bicycle (in rupees) is:

e e & Wgfhel A A T1000 iR frar itk
3T 9T 20%, 10% 3T 5% N FAF ge o 3939
2T | 59 TR 39 Taohal o 14% T ST HATT |

AT T ST e fehetell (92 #) {2
A) 790 B) 600
C)510 D) 560

The price of electricity has been increased by 25%. If a
person wants to keep the expenditure same, then the
percentage reduction in use of electricity should be :

T frfmad 25% Frafg st | s A =afFa
T 3T & TEAT AR & af TaraTell & SEaaTel H 34

TrceT aferRra HHT et 81efT 2
A)19 B)20
C)21 D)18

A dealer marks his goods 20 % above cost price. He then
allows some discount on it and makes a profit of 8 %. The
rate of discount is:

Uk fashdT 39! AT W AR #ed W 20% H0F
Ao difra Tt | R g s Rgo gegard ik
8% ST I3 AT & | TT T & FIT A9l

A)6% B) 10%
e
C)4% D) 12%

The radius of a sphere is doubled. The percentage of
increase in its surface area is?

e Tieren i BT I A A ST | 39 IS 8
7 g 1 wicrra Far gem

A) 100 B)400
C)75 D) 300
s

Al

%

“{Kﬁt’f

T AxPooe

V

7--4254610

A & : HeATw ARy
“’_‘ 47) The ratio of the areas of

48)

49)

50)

—

is?
ﬁﬁ%ﬁﬂﬁﬁﬁmmwmﬁmﬁ
S, BT 1 3earer g
A)3:2

Cp:1

A man travels 600 Km by train at 80 Kmn/h |
: our, 600

by ship at 30 Km/hour, 500 Km by aeroplane at I:(;l(l)

Km/hour and 300 Km by car at 60 Km/hour. What is the

average speed(Km/hour) for the entire distance ?

U S8 ¢of gan 80 freifier sy ser frafy
600-FRelFe, STerer & 30 foriisex wfarerer r afy
:)%mmaﬁwmmmmauﬁdaﬁ

W 500 Freireet R SR ganT 60 freex
SRt Ry 2 300 Rt |50
AT & S 3T 71T Rreeir (Reetefiet wf wen)
e 2

o . two s .
its diagonal than the other quares one having doubje

B)2:1
D)3:1

A)63 B)gy7 o
~ \Sébg‘b '
C) 56Z D 97 ™
27 ’ 27 S

A man retired from his service at the age of 60. He served

for 3/ 5" years of his retirement age. He joined his job at
the age of :

T S 60 T i IR F AaTAqed I | 3T I
Jaragied g F 35 a§ Jar A | FE

Aty R 3 #7 YE H

A)20 years B) 18 years
2099 18 a%

C) 24 years D) 36 years
243 36 9%

A man purchased 120 reams of paper at ¥ 80 per ream. He
spent T 280 on transportation, paid octroi at the rate of ‘!0
paise per ream and paid ¥ 72 to a porter. In order to gain
8%, he must sell each ream of paper for :

s cated & T 80 Ui e & egx I 120 RA FES
eT | 3T TS TR T 280 W T 40 H wiey Rav
o g 31T 1 AR el T 72 fow | 39 8% A
1197 ST FeY & Fore sfey Ry T et wad &
TTAT B ?

@590

C)¥ 89

B)Z 85
D)2 87.5
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C :General English

Pa

T ———=eral English

] Directions : Some pa
! errors and some are

Question Nos.51 to 60

rt of the sentences

co ;
the sentence has an e”’;f‘«;i. Find out wh,

corresponding to the app

may have

ich
nd blacken the cﬁglg o

Opriate correct option, If a

59) He isnot what

he?

A)He is not what

c)goesn't he?

go) He has not been

W

you would call an honest man,

attending English classes fo

doesn't

B)you would call an honest
man
D) No error

T Oonc

sentence is free from error
; » blacken the cj week.
correspond “ j e circle ;
Sheet.p ing to “No Error” option in the Answer A)He has not been B) English classes
E 51 4 attendiﬂg'
; ) This sponge is not able to absorbing water. C) for one week D) No error
| - . ‘on Nos.61 to 70
N A) This sponge is B) No error pirections : Sg#;:itc,gs given with blank to be filled
| C)not able to . s g d(s). Four alternatives are
I?)absorbmg waer - wggs?gg rger:aztceh%c’rciles(,tion. Choose the rpo§t -
52) I am thinking I will s ; tive out of the four and indicate |
go to the market | : ropriate alternati Tt TR =t
afternoon. et later this ﬂ% Ia’; Kening the con-espondmg circle in the
w o Sheet.
I am thinkin, N ke
o . . = et 1) Since she is @ teacher of language, one would not
C) later this afternoon D) T will go to the market expect her to be guilty of 2
53) I am too much pleased to know that you have topped A) solecism B) bombast
the list. C)schism D) stanchion
A)to know that B) you have topped the list :
: 7 e 62) Anna is not popular. Shehas friends.
C)No error Iyl am too much pleased
) . s el A)a little B)a few
54) Have you been doing what has been asks of you! Bt D) little
B)been doin, ’
A)Have you )P . 63) Sally parked and got the car quickly.
C) what has been asks of D) No error
you? 6) out of B)on
55) We rejoiced at his being promoted. C)in D)over
A)being promoted. B) No error @ she can't drive, Anita has bought a car.
C) We rejoiced D) at his (A) Since B) Even though g
56) Kindly submit your documents to the clerk. C) Whether or not D)Even if
A)to the clerk. B) No error 65) You \Z;H have to f;ce some practical problems when
: you start this plan.
C) your documents D) Kindly submit _ wE
. " A) prosecuting B) proscribing
i tiful painting in the gallery: -
57) Itis a most beau P g C) prescribing D)cxecuting
i B) No error ;
A}t is a most ) 66) They were worried about a new cult which
C) beautiful painting D)in the gallery- many followers.
. . A ini
58) Love for ours environment IS enough t0 protect ) must be gaining B) were gaining
nature. C) was gaining _—
— - D)is gaining
A)No error B) ours enviro 67) The actor P—
C)is enough to protect D) Love for car turned
nature. A)turtle
B)tortoise
C)across
”, D) tiger
\ /
N-2062/12371(10) 9 P

e i
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™ Part C :General English _ARLDL =SS
468) A man is known the company he keeps. 77) Allin a mess. N
A)of B)by A) disturbing )i
o angcd
D)i C)negligence .
C)for )in D) dls!racting
69) He must the loatiz: 78) A number of people listening ¢, B
Cert or le oty
re,
A)repeal Elrepay A) group E)_a“dience
C)repeat E) receipt C)tribe D) spectator
70) The convict was on a Monday. ’ * Question Nos.79 to 83
——ond Y Directions : A sentence or 8 Part of the sentep e
A)hanging .B) hanged underfined. Below are given altematives to the -
underlined part which may IMprove the sentence
C)hang D) hung Choose the correct alternative. In case no ’
improvement is needed choose “No Impro
Question Nos.71 to 73 ) a7
Directions : Out of the four alternatives, choose the 79) How long 1 shall stay is doubtful.
one which best expresses the meaning opposite to
the given word. R A)]I can stay B)1 will stay
; to st D) No im
71) Authentic C) I want to stay D) provement
80) Even at the peak of her success, Kalpana Chawla did not
A)fake B) honest forget her home or her duty towards other human, this js
C) frank D) futile evident from the fact that she distributed education of
girls in India.
72) Methodical Pb Com (S5 Yudrs) A) she contribute to E) she contributed girls for
education of girls. education.
A) orderly B) flurry . .
C)No improvement. D) she contributed to the
C)random D)crazy education of girls.
73) Polite 81) Every person was not fitted for everything.
A); rude B) rough A)is not fit at B) No improvement
C) tough D)rash C) was not fit at L'()j is not fit for
Question Nos.74 to 78 82) The doctor scribbled his prescription which 1 could not
Directions : Out of the four alternatives, choose the o
one which can most appropriately substitute the S—
given word(s) or sentence. A) make over B) make up
o C) make for D) No improvement
74) In a primitive or uncivilized state.
' 83) Neither parties deserves our help.
A)rural B)savage
C)village D)olden A)No improvement B) parties deserved
C) party deserves D) parties deserve
*  75) Happening every year. C)party )p
) Question Nos.84 to 86
A) annually B) routine Directions : Out of the four alternatives, choose the
C) timely D) season one which Ws&nmg of the given
word.
76) One who believes in God.
; 84) Stationery
A)pilgrim B) believer 3
: iti i uter accessories
?') thelst D) worshipper A) Writing accessories B) Comp
C)Moving D) Fixed
___.——-—"‘—'-_——-_—-
N-2062/12371(10) 10 p.T.0
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. 94) All and sundry were
A) Irregul - were asked to 1 :
) Irregularity B) Repugnant Eu——r | .e o leave the village
C) Admirabl
) e D) Uncommon A) some people E) all the people
86) Innocent 1 ' ~ Callthe adults and elderly D)all the adults
A) Guilt BB 1 95) " Joe can be a loose canon sometimes.
ias
c) Offence D) Guiltles A) one who acts without B) one who speaks without
= s thinking. thinking.
uesti
Directions : Four Wo?; NOS_‘B:I to 92 C‘:) one who acts crazy. D) one who is
one word is correct] s are given, out of which only unpredictable.
d ctly spelt. Find the correctly spelt -
word. Question Nos.96 to 100
Directions : Read the following passage carefully
87) and choose the most appropriate answer to each
question ouf of the four alternatives.
A) municiple : Passage
() . B) muneciple At times there was something inhuman about Mr. Rogers,
C) munecipal D) municipal the Headmaster. His formidable chin fitted out in the
most formidable way, and he seemed to be always
88) frowning at the world ifi general. At the assembly he was
like an inspecting officer in the army; he surveyed the
5) journal B)jornal gathered innocents with his crinkled eyes, and then began
. his list of moming rebukes. Any hapless offender, for the
C)jomale D)jurnale most venial offence, would be commanded to appear
before his presence in front of the gathered ranks, and
89) would then be subjected to a tirade of abuse that would
leave him trembling or even in tears. Mr. Rogers was
A)license B) liscense ruthless and cruel in public. "A dehydrated old sadist"
] ) was how Mr. Jones, the chemistry master described him.
C) lisense D) licanse The extraordinary thing was that in private he could
be magnanimous and gentle. Any boy who was really in
90) trouble would receive 2 S athetic hearing, and went
out feeling that the burden had been hg .
A)harrass ?)harass
OYh 96) What best describes Mr Rogers at the school
C)harras ) assembly?
91) A) ruthless and cruel B)a sensitive army officer
A)saperate B) separete ' C)a formidable teacher D)a genial person
C) separate D) seperate 97) The staff considered Mr Rogers to be :
92) A)an intimidating person B)a person t0 be idolized
. £)aperson without any D)a gentle and
A) exhilarate B) exhelerat® scruples understanding person
xhi D) exelerate _ .
9) exhilerate ) 98) "in amost intimidating way" means.
] Question Nos.93 to 95 ) _
pirections : Four alternatives are given for é’;}e . A)in a very fowl way B)in a very helpless Way
\ idiom / Phrase undertined in the sentence. Choos . . . ;
" : meaning of C)in an extremely intimate D) in an extreme \
tt’;l: ?;irnf;a;tgsr:::h il sipeseae ) manner " frightening manner
93) The presentation by the group at the meeting passes| 99) Another word for 'magnanimous’ is :
muster. ) generous B)high handed
A) achieves to impress: B) meets required standards 2e
g C) magnificient p)arrogant
C)does not meet the D) fails to impress.
required standards-

M

1.0
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A) They came out trembling B)
and in tears.

C) They echoed the
sentiments of the staff

members.

Scanned by CamScanner

100) What happened to boys who visited him in private ?

They looked even more
worried than before.

They seemed relieved of

'

their troubles.
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101) In earth atmosphere, which of the

decreases with height? following Continyously

LT e AR2017-.4254610

W ¥ ; FTHTR AT

105) which of the following does not belong to physical
environment?

ratd & ¥ e wreey sifow sofator @
A8 87

et &5 AT 3, PR 3 e 5 - " A)Lithosphere B) Atmosphere
& WIY-AT FHT AT AT &2 0 T AT CILEEC]
A) Wind velocity B C) Hemisphere D) Hydrosph
e y phere
Q& & ) perature ) e ’
C)Pressure D)Humidity 106) An example of a solution of liquid in solid is:
o néar Sy 7 e & T BT 3ETENOT F T §Y
102) Which state in India has the largest coastline? g)jelly B) rubber
R # o T T @ wed o e “ h
s s o p Lol
C) Tamil Nadu D) Maharashtra _107) Which one of the following is not correctly matched?
g P 7 pfafRe # A PeaE w8 A g R w8
A)Iron-ore - Kudremukh  B)Copper - Khetri

The Crop Development Programme of the Government of
India covers which of the following groups of commercial

crops ?

HRE AT F e (AP FE FA & I
fRfET & § B affSas wadl &1 3958

T 87

‘/103)

A) Tea, Cotton and Rubber B() Jute, Tea and Coffee
C) Cotton, Jute and D) Tea, Coffee and Spices
B aray, @y AR FE
F, Sg A e
104) Under the Constitution of India who are the ultimate
sovereign ?
I 35 TRt & el OOA G et €7
A) President of India. B) Indian People.
r 4
I & regafer s S
C)Prime Minister of India. D) Al elected leaders of
AR & qurer India.
e & ahy e
aar

pﬂ”rﬂ@gp : 40%)
gy 1245
W@

237

%

C)Manganese - Koraput D) Coal - Singreni

108) Which was the instrument that was played by Ustad
Bismillah Khan?

seae RfEHeaE @ i &1 aed S Ly
A) Sitar B) Shehnai
IEiGIES Y oS
C) Santoor D) Flute
qQ argd
109) Loss of water in plants in the form of liquid is known as:
ﬁtﬁﬁaﬁ%mﬁﬂﬁmﬁfﬁmﬁﬁﬁ?
A) Osmosis " B)Imbibition
RO faare
C) Transpiration D) Guttation
CIiniED feredt Iell
110) Which memory is both static and non-volatile ?
o2t 2y e 3R R @t Bl g7
A)RAM B) CACHE
C)ROM D)BIOS
Y
d“(f: a O

kL
!

o

N-2062112371(1¢)
1
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—
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111) The Modi Government at the Centre has formed NITI| 116) T_he aim of the Antyodaya Programme i - —
AYOG by replacing which one of the following? AN FHH = - g?c is
A TEFR & Fg A PeaEd # @ fw 3T A) Uplifting minorities B) Elimi
. iminating urb
%mwmﬁmﬂmﬁm#’? TR o an
A)Finance Commission B)Planning Commission c') el 0
fea HmwET Tt AT Improving the standar ) e
- of scheduled cas?:s o [D :I:x?;rglgt}tge o
C) Agricultural Price D) Fiscal Commission srraR poor
Commission oS T i srfert & ol o o W it
- P Aed AW FuR R T —
o .| 117) Which of the followi
112) Poverty in India is measured through one of the following /7 St Eaed :{V;;‘ri S;Etresprf:isi C{ie:ge“;gall;;mgl:;: the
GELLEI ¢ P - PN — weaker sections at subsidised rates? =8
s & e &1 AT AT & & e 159 S FAER 91 #=
2 R T & 2 _ Ffear #erer REadr &7 W 396y & & fovw
A) number of rooms of the B) intake of the calories e 3 FeTault S -
residence Sardr argoT LAl TSt
T 3 FAT A g A) Uttar Pradesh B) West Bengal
” 3ok TS afeg® e
C) education level of the D) number of family
family members C)Madhya Pradesh D) Rajasthan
e dEm TR IRERE e & AT A e
118) For Commercial Banks lending the 'Priority Sector'
. . denotes:
ia i ted by the:
413) The Attorney General of Indiais appoin i s e
m%aﬁ#maﬁrmﬁﬂﬁmﬂ?mﬁaﬁﬁ SIOTSgs ST garT 3UR & e BT
% e aiEra 82
A) Prime Minister B) Law Minister A) Self employed B) Small industrialists
FeTeTEAT faftr 7 = maed A T
C) President of India D) Home Minister C) Agriculture and Small D) Small farmers
qRT F TSI D IGE scale industries o e
, iy 3% g 3ET
114) Which of the following can Not act as a bleaching agent? . . '
rfaf@a A aFr T R T FIH bl X 119) The toxic metal associated with the Minamata episode is:
g Wmﬁﬁaﬁﬁwﬁamsﬁrb
i lead
A)Nitrous oxide B) Sulpher dioxide A)cadmium B) lea s
ATSEH HIFATES T 3T-HIFASS Fefaas e |
C) Chlorine D) Hydrogen peroxide C) mercury D) arsenic
« a_—ﬂmﬁ 1 ﬂ [v) m 3nﬁ$
120) The release of which of the following into ponds and
quitoes?

115) Which table in an operating system contains information

wells helps in controlling the mos

‘ 7 atlout a.II the open files? &
o e 3t faver e 3t W gl el Y it # & P ot 3 o 7 O
T A B2 ot & Ao # WERE @ €7
| A) open-file table B) open-seek table A) Crab B) Dogfish
3o et e e ¥ S
C)open table D) open-location table C) Snail B) Gambusia fish
3ot e e wie e grer degfaar
N-2062/12371(10) _ ” i -
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gt e AT o o 47
A) Taiping Rebellion
At e
C)CP C Party
cpCadt

122) A biome is:
EH F T 8?

A) A group of plants
growing in a particular
area
fore RRTse 8T A W
Frex atelt 1 THE

C) A complex of
communities
characterised by
distinctive climate &
vegetation

ffrse Searg @
SerEata are FaEaTa
T ¢

national income calculation?

anfarer FAI fohdm STEN ?

A) Income of a joker ina
circus company

T FAT & FNH T
g

# share broker
A F Hr FoleT A
ki)

24) Sun Yat Sen was the leader of:

B) Boxer Revolt
dfFR RRE

D)KMT Party
KM T arét

B) A delimited area
AR &

D) A collection of rare
plants & animals

Zaw i vd
M-t F HIE

123) The lens of the eye is behind the:

i@ ¥ 3 R TS e £?

5) Pupil . B) Vitreous human
R faga e

C)Retina D) Optic nerve
et sitfees @

124) Which of the following income will not be included in

ﬁmﬁ%ﬂﬁﬂmmﬁu@wmﬁmﬁ

B) Income of a commercial
artist
ST HATHR T

K1)

C) Commission i i .
) Commission income of a D) Individual's income from

sale of shares
R B RAAES
=faaed 3

Scanned by CamScanner

125) Which one of the following states is known
ag

Spices' ? '‘Garden of
RrrAfarEd # ¥ R TS Y HAE
& Iy

S 62 o
I» Kerala B) Karnataka

FTA FAleH
C) Gujrat D) Tamil Nadu

I GIGEDIE

125)'Pillared halls where the Buddhist monks worshipped were
known as:

ﬁﬁiﬂﬂmﬁaﬁmm%ﬁaﬁmm@
Fa A

ﬁ) Chaityas B)Mathas
A as

C) Viharas D) Stupas
[EN &

127) Which of the following is a semiconductor :
ErTaTRe ¥ & FT e 8
A)silver B) copper

foeaR GiEl
C)glass D) silicon
Hd rRferepiet

128) Milkiness observed on passing carbon dioxide through
lime water is due t0 the formation of :

mmﬁm@gﬁw‘sﬁwww

Pty ooy @ R &el {3

A) Calcium carbonate B) Calcium chloride

/ feurgs FEee TR FANES

C)Calcium hydroxide D) Calcium bicarbonate
A A 15-FEeT

129) Elasticity of demand of luxury goods is :

Fyenven &1 gt Ay A i R 87

A)Less than one B) Infinite
& AFH ydf@Ad

C)Zero D)More than one
g = & HfeF




Part D :General Awareness

130) A system program designed to aid the programmer in
finding and correcting errors or bugs is known as:

STt 3N it Y Siep ey 3 WV A wgTAe o AT

FATT AT FAECH ST Y T et 67
—  A)Debugger B) Evaluator
EET seque
C) Corrector D) Quarantiner
HFT FanfeR

131) Both the Tropic of Cancer and the Tropic of Capricon
»#  pass through:

o YT R T 1@ et el TS § 7
A) South America B) Asia
gfaof 3ARer ufdrar
C) Africa D) Australia
3R sireeforar
132) Who among the following built the Golden Temple at
Amritsar?
rrfafa & & Rrae 3eaat 7 &l AT swarr
an
A) Guru Gobind Singh B) Guru Teg Bahadur
715 e g [E AT TETEL
C) Guru Nanak D) Guru Arjun Dev
7 AT I[E 30T &

133) Who has been elected as the new Secretary General of the

United Nations ?
FgT qUSg T AT AT Pt oA ;A g7
B) Ban Ki-moon

A) Antonio Guterras

¢ Rferay A TP

C) Lewis Hamilton D) Juan Manuel Santos
aza eAee FHT AP Yo

134) After a shower of rain, a rainbow is seen:
/ aer 6 R 4T, AT T e et 7

A) anywhere, irrespective of B)even in the absence of

the position of the sun the sun
e o, T o ety ThFT N R
SIS
C) towards the sun D) opposite the sun
g Srfeard © g fr favda far &
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135) Who decides
v about the size and i
Council of ministers? REICER i e

AR & 3R ve geeaar & aR #F Ao aa
AT §?

-.A) Lok Sabha B) Chairman of the Rajya
s T Sabha
T G & weae
9 Prime Minister D) President
FeeTAY egafd

136) Varun Singh Bhati who won bronze at 2016 Rio
Paralympics Games is associated with which sports?

2016ﬁ3ﬁtm?-iﬁ$@a*rﬁaa‘hwqaﬁshaﬂmm
— P
mﬁgsﬁrﬂﬁm@ﬁ#mm

A) Badminton B) Short Put
e e S o 5
C) High Jump D) Javelin Throw
S FFT Fafoe &
137) The maximum number of Mongol invasions took place
during the reign of :

siRrenTer HINTAATS HIHIT R QT ShIel 7 T2
A)Muhammad bin Tughlug B)Balban

¢ Aigee e T Feraa
C)Firoz Tughluq D) Alauddin Khilji
R geTerdh e et

138) Microsoft Excel is a

7 AsFEEE T T 87

A) Graphics Package B)MS Office Package
e dest MS Jiftra e
C) Electronic Spreadsheet D) Financial Planning
’ sdacioe e Package
e e Y

139) In the Panchayat Raj System, “the Panchayat Samiti" is
constituted at the:

ST Te ST & " WAt & e R
T T T ST g

A),State level g) District level
Tog &0 farem &
C)Block level D) Village level
&R TR aH &
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140) Participation is an important element of every :

gfasnforar frae Agcaot aa &

A) Aristocratic system B) Oligarchical system

c’) Democratic system D) Monarchial system
EIETE] ItaT

141) The Kailasanatha Temple (Siva Temple) at Kanchipuram
containing sculptures with paintings in the inner wall, was

built by ?
Wﬁmm#ﬁ?(ﬁaﬁmm
siyaly Sart & G & AR T TS ¥, e

geTardr ur?
A) Narasimhavarman B) Ravivarman
aas=
C)Mahendravarman D) Devavarman
Eroeennd &g gia
142) Element that is not found in blood is:
T 3 AT e el T SAer?
A) chromium 9) copper
FifeaA arar
C) magnesium D)iron
HoehfrTa GG

i o
143) Govind Ballabh Paned in:

A) Jharkhand B) Uttar Pradesh.
AGS ol

C) Chhattisgarh D) Uttarakhand
Bl EIRECE

144) The teeth lacking in Herbivorous animals is:

o sref Tyt 2 e et A A B 8
A)Molar B) Canine
TavE (g7e) EaTdh
C) Incissor D) Premolar
¥eF e
1
45) Of the following, which one is non-contractual earning?
FrfaRe & & Far a3
A
) Profit B) Interest
oI =
C) Rent D) Wage

™ fb.com/sscforuum
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146) Which one of the following gases releaseq )
plant is used as a fuel gas ? TOM big.pag

gy g wgF @ Feer Tfefe i R

a A)Ethane

B)Butane

ERL A
C) Propane D) Methane

et < vt

147) The title of b‘Gangai Kondan' was adopted by the

following Chola King:
frTaTad & & Re e T A TR & ged
R Fr A2
A) Vijayalaya B)Karikala
[EERICE i
C)Rajarajal D)Rajendra
AR | ¢ T
Volt x Second is the unit of :
coulomb
dee x As e Ffe ©
RAH
A) Inductance B) Resistance
e g
C) Capacitance D) Energy
Fenfar Fall
149) Excretory organ of cockroch is:

T T HellewaTe 39T T el &7
A)Nephridia - B) Malpighian tubules
Ciad Herdrett siferenr
C)Kidney D) Malpighian Corpuscles

e el O

150) Te number of players in a Futsal team is
———

peaw &7 & e e @ &2

A)8 B)6

C)5 (UO D)9 a')__‘
e X o435+

N2neniama_
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